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2006 & F & T F REFFHERY

HL7 (Health Level 7) %5 B 7R F £ » OSI(Open Systems
Interconnection ) reference model % - & % i ?(A) Data Link (B)
Application ~ (C) Network (D) Presentation ¥ % B
FRREM AP npFEIR s ar i 0 3 & TR FAA)R A HE
# BpELH OFHER OREFHTE §5C
oG A s s > FRBEBARILAIL(A) - B) = () =

(D) = % ¥%A
EAE&%@’@%¢ﬁ$%%"%@d%%‘ﬁ%%?%ﬁﬁﬁﬂ
Fe iR 3 3p A d e ds(A) TRk 3R (B)# s~ % (C)DRGs
(D)fek iz %D
The suffix -algia is defined as: (A) record (B)inflammation (C) pain(D)
blood condition % % C
The prefix meta- , like in the word metastasis, is defined as:

(A) beyond (B) behind (C) smalli (D)new % % A
Which one is not a medical informatics standard:(A) CDA  (B) ADT

(C) SNOMED (D)HL7 % % B
Which of the following abbreviations is NOT a correct mnemonic code for
the meaning behind the abbreviation?  (A) OB-GYN: Department of
Obstetrics and Gynecology.  (B) OR: Department of Surgery  (C) CAR:
Department of Cardiology (D) ENT: Department of Ear, Nose, Throat
¢* B
Which one is not clinical decision support systems? (A)computer-assisted
dosage systems (B) registration and billing systems (C)preventive care
reminder systems (D)computer-aided quality assurance systems % % B
Which statement regarding biases in demonstration studies is wrong? (A)
\olunteer effect means volunteers perform better than others(B) Placebo
effect means patients” symptoms improve if “high tech” computers are
presen(C) Hawthorne effect means subjects learn from the system, so
performance improves on control cases (D)Checklist effect means
performance improves if clinicians use a checklist % % C
Which data used for patient monitoring in ICUs is not continuous variable?
(A)Blood pressure  (B)ECG (C)Respiratory (D)Blood chemistry
¢%*D
The data modeling perspective that derives the business rules for a data
model from an intimate understanding of the nature of the business, rather
than from any specific information requirements in screens, reports, or
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business forms, is referred to as the: (A) top-down approach (B) bottom-up
approach (C) overview approach (D) business approach % % A
Graphically representing the functions, or processes, that capture, manipulate,
store, and distribute data between a system and its environment and between
components within a system refers to: (A) data modeling (B) structure
modeling (C) process modeling (D) transition modeling % % C

A computer-based file containing employee information would be
represented on a data flow diagram as: (A) data flow  (B) data store (C)
process (D) action stub % % B

A health determinant is a factor:(A) indicating the causal relationship
between health factor x and health effect (B) that has either a positive effect
or a negative effect on health status (C) that has a negative influence on
health status (D) that affects health status % % D

According to "'standard view

human cognitive processes should not be overridden by computers. Which of

the following is not a supporting argument for the above position? (A)

Human cognition is more suited to the complex task of diagnosis than

machine intelligence (B) Clinicians know and understand the patient's

situation better than computer programs do (C) Clinicians can make

compassionate judgments (D) Clinicians can do formal logical inference

better than computer programs & % D

BEAXFHFBESARS H R A G EHDT R JREY 5 7 (AR F ¥+

B BFEiain COF i DEHEFTHE £%B

BARTRY FHELOT AL 2 AT E BFREF OF

HEH D)F#4r FxC

AP B AEBETAORE M G B Ak £ 7 (A)Password

(B)Date (C)Login time (D)Timestamps ¥ % D

PACS shja s & Jf 3 o faR 2 cnd 45 72 (A)LOINC (B)HL7 (C)CDA
(D)DICOM & % D

PaE Rk A MG a2 (ALOINC (B)MeSH (C)UMLS
(D)SNOMED % % A

One of the most important user requirements of HIS-users is the integration

between HIS applications. From the user's point of view at least 3 types of

integration can be distinguished. Which integration type is not a valid one ?
(A)Functional integration (B)Data integration (C)Presentation integration
(D)Clinical integration % % D

of computer assisted clinical diagnosis,

Concurrency control deals with:(A)The control over users who
simultaneously use a computer (B)The control over users who have
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conflicting interests (C)The control over electronic messages using the same
communication channel (D)The control over users who simultaneously use

the same database & % D

EARS BT o ARV KRR AT (T ARV H ORISR 0 AT AR -
FARGFEZ 0 AN T R F A PR ? (A)Y faRrlE (B)2 R
(C)& 4 pli# (D)= R Pl:#(Acceptance Testing) % % A

R RE }_miﬁi PR s HE ek 2L ¥
TR FE N RS TR i § R bk R
- A m;f—fé_ ? (A)= > ® v (Security Policy)  (B)t& = ysie

&t 4 (Accountability) (C)¥ 3/ (Assurance) (D)ip < i
(Documentation) ¥ % B

TR FAEETRARLAR? (A2 S RRLERY B)F
HEE (C)FRETRT (D)F #',F 12 (Data Cleaning) # % C

T ‘Iﬁs)j'f“’ PTALA & A R InA 7 (A) SR A hE SRR (B)%5
RpRs gdlaodlx COFFFg2ky O 4 ¥xD
TR IE P ALK AR - 2(AREF Bl Ok (D)Z
#r ¥ % B

e FHAEFI(CMM) AT K=l e ST gk 5 kT ¢ g - 1R
bl g I S Y;‘ﬁﬁ_’ re FELDIERE FW SR njﬂ“)mbﬁxm
244 ® 7 (A)F =(managed) (B)E- & it (optimized) (C)< &
(defined) (D)“I ¥ 47 (repeatable) % % C

Which one of the following is NOT a body cavity:(A)Cranial (B)Thoracic
(C)Abdominal (D)Umbilical % % D

REFRIR Y AR G REER ¢ 4ET AP - gL (A)F R R
TRy B)FFEF B R FRpbEEZLE ()7 it
mﬂ* FrAaTE (D)iz_i¢ %F?u:a‘_#i%-‘lﬁ pRaEGEI R FRC

PR e BT AR 0 fE2 5 (A)Physician Order Entry
(B)Clinical Path  (C)Subject Object Assessment Plan (D)Diagnosis
Relative Group # % C

- ‘Sﬁrbr’v’v%5§ L L RS - AR S AR S
SRR A bl - ROV (A)HL7 (B)SNOMED
(©)ICD-10 (D)DRG % % B

2IWAKIE T~ MR 5 RARE R AR 20t gk vt B id
U0 T O BLBAE F AR hg Y ¢ (A)Power Spectrum (B)Frequency
Rresponse (C)Wavelet Transform (D)2 *+ ¢ & 5 % A

TR ARSI ERT > A JAEEFES BELLTER TV B
1EIE P AT AT (A A%k E R (B)ie R
OH TRt D) i % RH F 5% B
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Which one of the following is NOT one of the four elements generally
viewed as defining a medical datum:(A)The patient in question (B)The
parameter being observed (C)The time of the observation (D)The location
where the observation occurred % % D

Zf’ué’*—’gé)iieé ) ;i%ﬂ%ﬁgm,ﬁ,&w@ﬁ R BenfE L > TR E R
PEF? AFTHEES BTogs OxifEs D)EREEL

§%B
Which one of the following is NOT an advantage of a computer-based
patient record over a paper-based record: (A)Accessibility: paper-based
records are unavailable to others while the clinician is finishing up
documentation to an encounter (B)Flexibility: data in computer-based
records can be displayed in different formats suitable for their interpretation
(C)Ease of input: physicians usually can quickly enter data into
computer-based records (D)Data Quality: computer-based records can
automatically apply validity checks on data as they are entered % % C
Which one of the following is NOT a recurring issue that must be addressed
when building an effective patient-record system: (A)The need for standards
in clinical terminology. (B) The difficulties associated with minimizing
integrated circuit layout geometry. (C)The concerns regarding data
privacy,confidentiality, and security. (D)Challenges of data entry by
physicians % % B
TIPS LAY (A5 £H . (B)fewkm it (C)
Ko fhaoas (D) esfhiek $ %D
Which item listed below would NOT be among the five specific criteria for
project selection? (A)backing from management (B)availability of
resources for the project (C)high interest in a project technical features
among the programming staff (D)contribution of the project toward
furthering or improving organizational goals or performance % % C
How much time should be spent performing a feasibility study? (A)only as
long as needed to determine feasibility in broad terms  (B)as much time as
management will allow since that is the only way to prevent project failure
(C)as much time as possible to save time in the later stages of project
development (D)feasibility studies typically comprise at least half of the total
time required for a project % % A
Which of the following would be considered in assessing technical feasibility?
(A)whether the technology is available and able to be implemented in the
current environment (B)whether the technology is in use by the competition
(C)whether the technology costs are within budget (D)whether the
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technology can be implemented within the project deadline % % A
Which method of administering a questionnaire will likely generate the
lowest response rate? (A)administering the questionnaire via email
(B)convening the respondents together at one time for the purpose of
administering the questionnaire (C)personally distributing and collecting the
questionnaire (D)Allow respondents to self-administer and return the
questionnaire ¥ % D
T r| 4kt e K &1.5—;5’— (A)SSL(Secure Sockets Layer) ¥ i * & i e it
W > F 4 TCP/IP e 34 e/ * 4258 2 B8 i® (B)SET(Secure
Electronic Transactlon)’* RRETFRAGARTE DA R RBHE
(Secret-Key)+: % ;2 (C)#ic = % 3 (Digital Signature)fie & = B 4%
(Public-Key)4r % % % f3id ¥ i uz@ o 4 B it enf® 48 (D)#c iz i%K
£r (Digital Watermarks)2_J& * *Z i & (Steganography)#t ite#-7 3 &t e d

v RLREE FAY E5B
#-4f 448 1 4z (Software Engineering)shgcitt - = ie ¢ 5 & (A) TR
#2 (Data Flow Diagram,DFD) * 12 £ if % e j§ FAL A2 973k * enF
#L % H(B) 7 5 & (Data Dictionary,DD)4s if: # & ~ P12 & A1 B (7
B = ¢+ (C)F 4 % 1 Bl (Data Structure Diagram,DSD) i | 45 i F AL ii 42
B rie * Pl AL s KRR U2 242 5 (D) K AH(Decision Tree)ds
L T A= s e RNl R E’y_jf*%?@ HE R FEA

Tk @@,J # R hE 5T A H 7 (A)MIPS (B)BPS (C)CPS

(D)BPI % % B
MR- BIEP o HRRE 2P A fRRIAT B dRDM R D
(A)PIK:Public Key Infrastructure (B)CA: Certificate Authority (C)RFID:
Radio frequency identification (D)Digital Signature % % C
HeiE 2 sk e 2 AL (A)S&S (B)CC (C)PE (D)Hx % % A
» BaE 2 i f (A)BR(B)BH (C)BP (D)BF % % C
"R RF R RAFIRS PR ICH T @4 w6 £ 442 ADSL 512
Kb g % » 512 Kb = b i % : (A)Byte (B) Bit (C)Bite (D)2 + # 2&
¢* B
BEARAE T YL S iRk “ﬁ%yfif SRR
Bl TRk IRAR o 250 L 1 (A) REEE Y (B) BIERF (C)RIER
w Dy FxA
Rt Fiode vy 307 252 Freigy o wkg F [EXcE o WA
#9?2 (A)- B) = (CO=z D %8B
mle‘migri%‘nxa,—?%i?.;z’%u i Ak 35 ELBHaFeEE
(MF R L B (B) T PR A% O 5RO e E R
§*xC
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TR S ek ;I#Fﬁfl‘mm& whox L (A)T el Pl (B
LTRSS C)RRK A i (D)FE F(0S)k ¥ % B
A eRHEE T REHA)ER Bk 1 (A) TEsg iR
ook BE (Fakat (B)- IR RRPEF 0 ¥ - 30T TR F4F kAL

2@ (C ) HBRFECRY g FA e o p T
i D) ¥4 FRFALARTS > §5B
TR L et L e+ (BSC)HrF X E AeE ¢ (A) # 3

(O

7R

oA 4 ’—%r’i s (B) #amR - s g ivE A (C) » {2

FHO) L FL §%D

T"'J"?'*ﬁ“ Ll kP (A) FR®m B) EEMIP2HE
Rl rEan R ¥ 2 R * F/te (~ &%) (D) székie fi(log)

REFARFrS FAad 2 HCAZLEY » 7 % b5 4 fj*’* Elads
CEAGRBER ISP TRY S AFRBES BFF R+ (©
II% ICH+(D)p 2+ &% %8B

TAHEAF S (SQL)P o & H fﬁf'ﬁk joRt 4 (table) - muitdg £ & 1 (A)
DROP (B) DELETE (C)UPDATE (D) ERASE % % A

% 0F 34 (table) & A 2 B F(relation) - & /i & § Key» T 75 it w4 &
ELI (A)f’P 3R %= 4(Foreign Key):inie v £ & (B) 2 4&(Primary Key)
® 7% ¥ % NULL (C) 2 & (Primary Key)enie v £ % (D) ™+ % &
2% C
¥ R e 5 0 @i PACS ?  (A) Pan American Climate
Studies (B) Physics and Astronomy Classification Scheme (C) Photodetector
Array Camera & Spectrometer (D) Pictures Archiving and Communication
System ¥ % D

%%F?o%fl?u*p iz - ERT A B ARG SRZAT R EVIE
447 B 48 7 (A)Access control (B) Accuracy control (C) Concurrent
control (D) Integrity control % % C

# +k ~ # (Booleanalgebra) * 1 & # & (true) * 0 % % (false) » *
PrRAZFSPAZEIZE QRAEIB2ZERE 7VF it TA 2 By
HEFEFT AT R A2 B(A) 44 (B) 4pi (C) mﬁ (D) #p*7

AR EL o T AT R ARG LR 1
(A)g* BET %% (B) Eig* §7 1 ’)ﬁ 3 # Lrﬂiﬂ»mm (C) d & i
AR oty D) g R JE FRA

- 5 512x512 ch2 v R % > 7 & 0.25MB(mega byte) > RIzZ PR 7 2 A FF B
4 %% 2 (A)8 (B)32(C)128(D)256 ¥ % D

WA >R A S0 & B TR 2L (A)Accuracy (B) Integrity (C) Availability
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(D) Confidentiality % % C

TR T RS B STNT EF d ? (A)Bic -

#E Bkt E O -k E DR E £%C

FUTE R R R VLG R R B BT 2R EL? (A)DNS (B)

gateway (C) proxy (D) firewall % % D

TR E FORR A R R R Y (A)CT (B)endoscope (C) PET

(D)ultrasound % % D

Surveillance i £ HR L A2 (A)A 4 B)E 4 O D)F B %8B
MU R R R A Fud A 42? (A) regression analysis (B) neural

network (C) expert system (D) virtual reality % % D

T e A A - fa S (code) -7  (A) DICOM  (B) ICD-9

(C)LONINC (D)SNOMED % % A

T #& (A) chrom (B) constipation (C) cystocele (D) cyst # % B

& 4k (A) deliver (B) delitescence (C) illusion (D) joint % % A

BEEEF (A)cecitis (B) cachexia (C) chromhidrosis (D) cacesthesia
¢*D

#H A & Zx (A) siphac (B) septonasal (C) schizophrenia (D)

scleroconjunctivitis % % C

Pz e (A) septicemia (B) siphac (C) skeocytosis (D) sacrococyx # %= A

&gl (A) rabiate (B) rash (C) rheumatoid arthritis (D) rarefaction of

bone & % D

® %R (A) quickening (B) quadrigeminal (C) quadriplegia (D) quinidine
§*xC

% A > A (A) omentitis (B) ophthalmechymosis (C) omotocia (D)

omphalocele % % C

R & F] (A) oncogene (B) oosperm (C) ophthalmia neonatorum (D)
oophoritis FXxA

- (A) kysthoproptosis (B) kyphosis (C) knee reflex (D) kakostomia

-
§ %
#1
§ %
Iy

/

O

< = (A) laryngismus (B) lapaotomy (C) laparoscopy (D) leipothymia

sva 4 (A) paludide (B) leiasthenia (C) incontinence (D) hemophilia
B
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